)

= a® + 2ab + b?

@ (a+b)?

=a? - 2ab + b?

@ (a-b)?

a? - b?

® (a+b)(a-D)

@ (a-b)(a®+ab+b*) =a® - b?

® (a+b)(a®—-ab+b?) =a®+b>



O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a2 + 4b* + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x>+38

(xQ—xy+y2) (x2+xy—|—y2) =x4—x2y2+y4

@
® (x-1) (x+1)2=xt-2x2+1



2 % A9 A7t w2 ghe AL T2 w?

O 1-x)1+x+x)=1-x3

@ (X2 +xy+ ) (2% —xy +y?) = x* + 122 +y*
@ (x-3)(x=2)(x+1)(x+2) = x* —8x> + 12
@ (a-b)(a+b)(a®+b*)(a* +b*) =a® - b°

® (a+b-c)la-b+c)=a®?-b%*-c?+ 2bc



@ 2n+1

@ 2n+2

@ 2n+3

@ 211+4



5.

O A9 BRE 022 TS ¢ BE A4 xol tishe] o= 2ol

AHS W, ay +ag + -+ + a8 2?2

1
(x=1)(x=2)---(x—10)

R as aio
_x—1+x—2+ +x—10

D 0 ® -1 3 1

@ -10

® 10




tod a® +b° + ¢ = ab + be + ca

)

ol Hl ¥ie] Zo] a, b, ¢ ol Hh

%



7. MAFabc’ta+b+ce=3 2+b>+c*=9, 3+ +3=24
E WAL o, ot + bt + ¢t +19] G FotH?

@D 69 @ 70 ® 71 @ 72 B 73



® 3 ® 4 @ 5 ® 7

D1



